Area of Shapes
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° Section 6.1 Review of perimeter and area



{ Example 1 )

Find the area of the shaded region of this figure. 20cm

16cm

(Example 2 )

The area of the given triangle is 56 cm?.
Find the perpendicular height, h.




Exercise 6.1

1. Work out the perimeter of each of these rectangles:

(i)

9cm

14cm

9cm

14cm

(i)

(ii)

8cm

8cm

13cm

(iii)

10.5cm

17¢cm

13cm

(iii)

2. Find the area of each of the rectangles in Question 1 above.

10.5cm

17¢cm



3. Find the length of the missing side in each of these rectangles:

(i)

84cm?

12cm

(i)

176 cm?

11cm

(iii)

198cm?

9cm

4. Work out the perimeter of each of these shapes, where all the angles are right angles:

(i)

6cm

5. Find the length of the side of each square shown below:

9cm

(i)

8cm

15cm

(i)

Area = 25cm?

i) x7= 14y

X =
x=12

Jiay

(ii)

(iii)

12cm

15cm

Hlw

Area = 144 m?

-X

}
x

i x?= 625

x= 62§

x;,ZScm

(iii)

12cm

14cm

Hiw

e———

3cm

-

Area = 625cm?

X



J; Base x_L hewght
6. Find the area of each of these triangles: H lUJ H l LA)

(i) (ii) h (iii)
12cm

< 55
i) —;(.zo)x 12 i = (20)X 10

T
(0 X 12 =l120m? 12 x10=1200m

7. Work out the areas of these triangles:

|
2B8xh

8. Find the length of the line segment marked x in each of these triangles:

(i) (iii)

Area = 90 cm? Area = 112cm? Area = 120 cm?
LO8)6)=90 o001z Faalx)ze
|6 X= 120
Ax=4Q40 Ix= 112 .

A x=i0 F1 0 il voiol 28 o ez 77



- 16 X=120 |
Gx=qQ0 Ix=112 ~ ’-_..-o
- "{ x= 12

,—'q, x=10 [ 75 x=14| 7%

9. Find the areas of the following shapes which are composed of rectangles and triangles.

(i) .
L BC™
nea@]
8cm
14cm 20cm

() vx¥= 580w’ (1) 14x 107 140uas? @) 15x26~ 300
@0xe= @t Otgorn

5.5 x 6= 33um I x6=U2cm 10 x12=120

§§+33= 2 cm® 1404az = 1820m° ol 3004120

=U20cm?®

10. Triangle B is double the area of triangle A.
The height of both triangles is 6 cm.

(i) Find the area of triangle A.
(ii) Find the area of triangle B.
(iii) Work out the value of x.

I) Area of A -:-Ii-(q)(é) ‘gcm

2x€=12emt

i) Areo of B 1ax2=-ducm’
i) Fwd X 56(6) =24

. 3x=24 -
'.‘3{ xX=3 ,‘3

B lhwo



11. Find the area of the shaded portion of the
diagram on the right.

Hence find the area of the unshaded part.

Aral ] Area

$xq; qgwl

@ 7;'(3)(7 @

Hlw

12. Find the area of the shaded figure in the
given diagram.

ww

13. Under each figure below, the area is given.
Work out the values of x, y and z

m
15cm

7m
20cm

Area = 28 m? Area = 120cm?

“«—3m—r<—pHm—>

lz F—m——
9Gem

«—17cm—><—17cm—>

20cm
10cm
<12cm—> <«12cm—>
[ | L]
zm
9m 8m
=
4m
Area = 60m?



14. The shape on the right has been drawn on
centimetre dot paper.

Work out the area of this shaded shape.

15. Garry has seven tiles.

Each tile is a square of side 10 cm.

The tiles must be laid edge-to-edge similar to that shown on the right.
(i) How can Garry arrange the seven tiles so that the resulting
shape has the greatest possible perimeter?
(ii) How can Garry arrange the seven tiles so that the resulting
shape has the smallest possible perimeter?




Exercise 6.1

(i) 46cm (ii) 42cm (iii) 55cm
(i) 126cm? (i) 104cm?  (iii) 178.5cm?
(i) 7cm (ii) 16cm (i) 22cm
(i) 58cm (ii) 54cm (i) 58cm
(i) 5cm (i) 12m (i) 25cm

(i) 56 cm? (ii) 120cm?  (iii) 120cm?
(i) 31.5cm? (i) 60cm? (iii) 240 cm?
(i) 10cm (i) 14cm (i) 12cm
(i) 121cm? (i) 182cm? (i) 420cm?
10. (i) 12cm? (i) 24 cm? (iii) 8cm

NN wNA

11. 20m?% 25m? 12. 440 cm?
13. () x=4 (i) y =16 (iii) z=3
14. 11.5cm? —

5. OLLTTTT T o CTTT

etc. (P = 160cm)

(ii) (P =120cm)




